EXERCISES 6.5 = PAGE 445
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1. (a) 4/7 (b) =1.24,238l]
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5. 38 17. (50 + 28/m)°F = 59°F  19. 6kg/m
21, 5/(4m) = 04L

CHAPTER 6 REVIEW = PAGE 446

Exercises

L3 34 S 4+ 4/m  1.64m/15 9. 16567/5
1. 37 (2ah + h?)*? 13. [ 2m(w/2 — x)(cos*x — 1) dx

15, (a) 27/15 (b) /6 (c) 87/15

17. (a) 0.38 (b) 0.87

19. Solid obtained by rotating the region 0 < y < cos x,

0 < x < /2 about the y-axis

91. Solid obtained by rotating the region 0 < x < m,

0 <y =<2 — sinx about the x-axis

3.3 25 F/3m® 27.32]

29. (a) 80007/3 =~ 8378 ft-lb  (b) 2.1 ft 31, f(x)

PROBLEMS PLUS = PAGE 448
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k(2 f() =31 () f(x) = V2xjm 3. %
5 (b) 02261 (c) 0.6736 m

(@ (i) 1/(1057) = 0.003 in/s (ii) 3707/3 s = 6.5 min

gy = 3

L@ V= 7lfGPdy  (© f0) = VEA/@C)y™
vantage: the markings on the container are equally spaced.
L b=2a I15. B = 16A
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PTER 7

ERCISES 7.1 = PAGE 4575~ | % haJ whin h)/ s
'~.§x’ Inx—gx* +C
Ro(r - 2)e* + C

PSR | .
3. +x sin 5x + 35 cOS 5+ C

APPENDIX | ANSWERS TO ODD-NUMBERED EXERCISES [111

i 2
7. ——x*cos mx + —y xsin7x + —5 cos wx + C

m T w
9. s2x+ DIn@2x + 1) —x+ C
I1. ¢ arctan 4t — 3 In(1 + 16¢%) + C
13, irtan2¢ — ;In|sec2t| + C
15. x(Inx)* — 2xInx + 2x + C
17. 5e*(2sin 36 — 3cos 36) + C
19. /3 2. 1-1/e 23 1_l;m2 25 §-ie?
27. Mm+6-3y3) 29 sinx(lnsinx— 1)+ C

6
3. 2(n2? - Em2 + %
33, 2./x sin/x + 2 cos x + C 35, —3 — 7/
37 Mx? - DIn(l +x) —ix*+ix+ i+ C
39. 2x + 1)e* + C 7

41. 3x2(1 + x¥)¥? — H(T

A93 il
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43. (b) —icosxsin® + 3x — Ssin2x + C ‘
45. (b) 3, & 51. x(Inx)’ — 3x(Inx)* + 6xInx — 6x + C ,rz-."?,
53,5 — L, 55 1.0475,28731;2.1828  57. 4 — 8/m e
59. 2me 6. i3 -2 63.2-e(P+2+2)m i3
65. 2 \
EXERCISES 7.2 = PAGE 465
I. $cos’x — jcos’x + C 3. —m ;
5. 751; sin®(mx) — % sin®(7rx) + = sin’(mx) + C ;
7. w/4 9. 3m/8 1. 26 +2sin@ +5sin20+ C
13. 7/16 15, Z+/sin @ (45 — 18 sin’a + 15sin*a) + C i
17. cos’ — In|cosx| + C 19. In |sinx| + 2sinx + C
21. ltan’x + € 23. tanx —x + C
25. ltan’t + ftan’t +tanr + C  27. ¥ — J
29. i sec’x —secx + C 3
31. isec'x — tan’x + In [secx| + C m'
33, ;tan®f + Ltan‘6 + C o iﬂ
35. xsecx — In|secx + tanx| + C  37. V3 —am e
39. lescla —sosc’a + C 4L In|cscx — cotx| + C ':';
43, —icos3x —zcos13x+C 45 {sin4f — 7sin60+C f

47. lsin2x+ C 49, pran’(t) + C



